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BBA / COM 14 (r) - MrCRO ECONOMICS

Answer any five questions
Time: 03 Hours

01. (a) Define and distinguish between microeconomics and macroeconomics.

(b) What basic underlying assumption is made in studying micro economics?

(c) Explain how the price system works to allocate resources in a market
economy?

(d) Describe the main reasons why markets do not always allocate resources
in an efficient manner.

(20 Marks)

02. (a) Explain what is meant by "price elasticity of demand" and show how it is
measured. Show the importance for business of a knowledge of the price
elasticity of demand for their product.

(b) Identify the factors govern the size of the coefficient of price elasticity of
demand.

(c) Suppose onion growers announce the total revenue from onion sales
increased by 30 percent when the price fell20 percent following a shift in
supply. What is the price elasticity of demand for onion implied by these
facts?

(d) What does the price elasticity of supply measure in general?
How is the elasticity of supply influenced by time and costs?

(20 Marks)

03. (a) Differentiate the cardinal utility from the ordinal utility.
Indicate the equilibrium conditions related to the above utility concepts.

(b) The following information are given to you.

Tu* : 184X - 4X2 Tuu : 90Y - 3Y2

I : Rs. 204l- P" : Rs. 8/- Pr: Rs. 6/-



Where:

Tu* - Total utility derived from the consumption of commodity
X;
Tu, - Total utility derived from the consumption of commodity
Y;
I - Total income of the consumer.
P* - Unit price of commodity "X"
Py - Unit price of commodity "Y"

Using these information:

(i) find out the quantities of commodities of X and Y that maximizes
the utility of the consumer.

(ii) suppose that the price of Y is increased by Rs. 2/-, find out the nen'
equilibrium point.

(iii) using the information in (a) and (b) plot the demand curve for the
commodity Y.

(20 Marks)

04. (a) Draw an individual's indifference curve map and line of attainable
combinations on the same diasram.

(b) Explain the economic meaning of the point of tangency betu'een the line
of attainable combinations and an indifference curve.

(c) Explain what happens when the price of one product falls.

(d) Assume that the utility function of an individual is given by U : 10xy
where X and Y are consumption level of the commodities. If the price of
X is Rs. 2l-, price of Y is Rs. 4/- and his monthly budget is Rs. 400/-, how
much of each commodity must he buy to maximize his utility?

(20 Marks) -

05. (a) Discuss briefly the "Law of Diminishing Marginal Returns" using clearly
labeled diagram.

(b) Draw an isoquant map for a firm that uses two resources A and B, to
produce product X.

Explain:
(D the down ward slope of isoquant;

(ii) nonintersection of any two isoquants ;
(iii) convexity to the origin of an isoquant;

(iv) the ridge lines;



(v) the three stages for each resource;

(vi) output maximization given the firm's cost outlay and the prices of

the resources.

(20 Marks)

06. (a) "ln the short run, average costs eventually must rise. What happens to
average costs in the long run is uncertain ". - Discuss.

(b) Describe the main reasons why a business may experience falling long run
average costs.

(c) Explain how the structure of an industry and the competitive process
might be affected as long run average costs fall.

(al Suppose total costs for a paintbrush manufacturer are given by the
following expression:

TC : 200 + 3Q + 0.02Q2 where Q is the - Quantity of
output

What is fixed cost? Find out total cost, average cost, average variable cost
and marginal cost for 100, 200 and 300units of output. At what quantity is
averase cost at a minimum?

(20 Marks)

07. A profit maximizing firm has the following weekly cost and price schedules:

Ou tpu t0123456
Total cost (Rs.) 20 50 100 170 260 370 500
Price per unit (Rs.) - 180 160 140 120 100 80

Using the above information answer following:

(a) comments on the market condition being experienced by the firm;

ft) what are it's fixed cost ?

(c) caiculate and list Average and Marginal costs of all output;

(d) caiculate and list average and marginal revenues at all output levels.

(e) how many units of output are needed of the firm is to maximize its profit ?

(D what are total abnormal profit at this output ?

(g) on a graph paper, draw the firms Average Revenue, Marginal Revenue,

Average cost curves. On the same graph indicate total abnormal profit.

(20 Marks)



08. (a) How would the existence of effective barriers to entry influence the
structure of an industry and the level of profits earned?

(b) Using examples, explain the main features of a market characterized by
Oligopoly.

(c) Explain the "Kinked Demand Curve Model" of price stability in oligopoly
markets.

(d) Explain briefly why an oligopolist may engage in product differentiation.

(20 Marks)
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